REBELL

ARCHITETGCTURAL
L 1 66 H T I N G

Single Head Tessera

@/ Bollard Shown
W

3/8-16 Hex Nuts
and Washers (4 Sets)

Tenon Mount
Bracket Assembly

1/4-20 Flat Head
Screws (4) \\ 1.000" +0.25/-0.00
N mz Anchor Bolt Protrusion

Above Finished Grade

%

r:;::::i:if :.‘E:',’:z::
ST *; co \ Supply Conduit by

Others per Applicable
and Local Electrical

Concrete Base Foundation/Footing o’ LV Codes
Suitable for Application (By Others) 3/8-16 Anchor Bolts (4)
IMPORTANT Supplied by Rebelle

Disconnect power before installing fixtures. Read instructions before starting work. This
product must be installed in accordance with the applicable installation code by a person
familiar with the construction and operation of the product and the hazards involved.

MUST BE INSTALLED BY A QUALIFIED ELECTRICIAN.

Tessera 3151 Bollard - Tenon Mount

INSTALLATION INSTRUCTION GUIDE

Anchor Bolt Installation:

Remove anchor bolt sets from carton(s):

- (4) 3/8-16 x 12" Hook Type Bolts per Fixture
- (4) Flat Washers per Fixture

- (4) Hex Nuts per Fixture

- Template

Anchor bolts are to be embedded in concrete. Anchor bolts must protrude above finished grade / concrete
1.000” +0.25"/-0.00". Use template for alignment.

The appropriate rigid conduit, suitable for the application and in compliance with the local electrical code requirements, shall be
routed prior to pouring concrete.

Bollard Installation:
Remove Tessera bollard (fixture) from carton.

Remove (4) 1/4-20 flat head screws from bollard shaft at base.

Remove tenon mount bracket assembly from base. Place bracket assembly over previously installed anchor bolts, attach flat
washers and hex nuts (supplied with anchor bolt sets) and tighten accordingly.

Tessera bollard is supplied with wire out the bottom. Connect fixture leads to supply wires with approved wire connectors (by
others). Green - ground, White - common (-), Black - positive (+), optional Purple and Grey (0-10 Volt Dimming).

Place bollard over tenon mount bracket assembly, ensure wires are tucked inside and not pinched, re-attach 1/4-20 flat head
screws removed in step 2.

Energize and test as required.

This fixture is supplied with an LED as specified for the project and is self contained.

www.rebellelighting.com REBELLE ARCHITECTURAL LIGHTING 11475 - 201A Street, Maple Ridge, B.C. Canada V2X 0Y3
© 2018 REBELLE Al rights reserved. P 604.465.5739 F 604.465.9801 E info@rebellelighting.com W rebellelighting.com



